[ normalized x? probability |

Entries

Mean 0.09 E

Std Dev

T — 0.08
Mean

Std Dev 0.07
0.06
0.05
0.04]

0.03]

0.01f H N . e :
o 10 eV
T 105 gLl el !
& ¥
0 09! ‘Iﬂﬂ 11
5 H H H H : : : H . .
0'0 2 4 6 8 10 12 14 16 18 20 0'90 010203040506070809 1
2 Prob(x?)

m=m== DQM_V0001_R000000001__Global__mkFit_baseline
e DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000
w=m== DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000-2

< x2/ndf >

Ratio
-

A AN 3L
bS] k<] F
j=4 = :
Ny ~ 2.5F
> > o
v % F
2F

1.5p-

Ratio




	Contents
	Page 1


